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Duration : 3hrs 80 Marks

Q1 A) Give one word /phraselterm (05)

1) A brief explanation for the journal entry.
2) Right hand side of an account.
3) A form which is filled for depositing cash or cheque into bank account.

4) An excess of assets over liabilities.
5) The error which affects the agreement of Trial Balance.

Q1 B) State whether the following statements are True or False (05)
1) Bank Overdraft is an asset of the business.

2) Every Debit has same and equal amount of Credit.

3) Drawings made by proprietor increase his capital
4) Balance of Depreciation account is transfer to Profit & Loss Account.

5) Every item of Trial Balance has only one effect.

- Q1 C) Find the odd one - {(05)

1) Rent A/C, Salary A/C, Insurance A/C, Plant & Machinery A/C

2) Furniture A/IC, Machinery A/C, Land & Building A/C, Cash A/C

3) Creditor A/C, Debtor A/C, Bills Payable A/C, Bank Overdraft A/C

4) State Bank of India A/C, Amar & Co A/C., Advance Rent A/C, Goodwill A/C
5) Bank A/C, Debtors A/C, Bills Receivable A/C, Bank Loan A/C

Q1D) Select the correct option & rewrite the statement. (05)
i) [ TR means reputation of business valued in terms of money.

a)Trademark b) Asset c)Patent d) Goodwill:

2) Prepaid Expenseis ............................Account.

a) Personal b) Real c¢)Nominal d)Income

- -
_—

3) Debtors account shows ..................: A balance.

a) Real b) Negative c) Debit  d) Credit
4) All Direct expenses are transferred to ... .............account.

a) Profit & Loss b) Expenses c¢) Trading d)Cash.

5) Suspense Account is opened when ............does not tally.
a) Balance sheet ~ b) Trading A/C <¢) Profit & Loss A/IC  d) Trial balance



Q2) A) Journalised the following transactions in the books of Aakash for the
month of February 2025. (10)

Feb 1: Aakash started business with Cash Rs.100000,Bank Balance Rs.150000 &
Machinery Rs.75000.

Feb 7 : Goods sold to Avani Rs.40000 at 10% T.D & 10% C.D and received 50% of
the Amount by cheque.

Feb 15 : Purchased Laptop from IBM Company worth Rs,50000at 18% GST &
amount Paid by cheque.

Feb 23: Goods worth Rs. 5000 have lost by fire . Insurance company has accepted
claim for Rs.3000 only.

Feb 28 : Goods withdrawn by Aakash Rs. 2750/- for personal use.
OR |
Q2) B) In The Books of Pragati. Traders prepare following ledger accounts
(10)

Opening Balance as on 1st October 2024

Accounts Dr Bal.(Rs.) Accounts Cr Bal(Rs.)
Purchases alc 10000 Sales alc 65000
Cash alc 50000 - Jayesh alc 27500 .
Furniture a/c 20000

Bank a/c 100000
2024 '
Oct 1 ;. Goods purchased on cash basis Rs.7500/-.
Oct 3 : Cash sales Rs.10000/- @10% T.D.
Oct 9 : Purchased Furniture from Amarsons Bros. for Rs.37000/- & paid by cheque.

Oct 20 : Paid to Jayesh Rs.27000/- by cheque in fill & final settlement of his
account.

Oct 25 : Cash deposited into bank Rs.40000/-



Q3) A) Prepare two column Cash Book of Neha Traders for the month

ended (10)
January 2019.
Jan 1 | Started business with cash 30000
Jan4 | Cash deposited into bank 12500
Jan6 | Cash purchases 3000
Jan 10 | Purchased printer for office use 11000
Jan15 | Sold goods to Rakesh &co. and received a bearer cheque . 5000
Jan 20 | Rakesh's cheque deposited into bank
Jan 24 | Paid carriage 150
Jan 25 | Amount withdrawn from bank for personal use - 1500
Jan 30 | Paid Wages by cheque. 600
OR

Q3) B) Enter the following transactions in the books of Rajesh in Purchase Book
Sales Book, Purchase Return Book, Sales Return Book for the month of, Oct
2021 : (10)

- Oct 1 Goods purchased from Parag Stores Rs.15000 , @ 10% Trade Discount.
Oct 3 Sold good to Prasad Traders for Rs.9000.

Oct 8 Veena sold goods of Rs 16000 to us @ 5% Trade Discount.

Oct 128end a Debit note to Parag Stores Rs.1500 (Gross)
Oct 16 Purchase goods of Rs.8500 from Priya and paid carriage Rs.150

Oct 21 Prasad returns goods of Rs.1350.

Oct 25 Purchased goods from Rohit stores Rs.12000 and sold the same to Hardik &

Company at a profit of 20% on cost.

Q4) A) Prepare Bank Reconciliation Statement as on 31st December 2024. (08)
1) Debit balance as per Cash Book Rs.16000/-.

2) Direct deposit by our customer in our Bank Account Rs 8000/-

3) Cheque deposited into Bank Rs.10500/- but not credited by Bank.

4) Pass Book shows Debit entry for Bank Commission Rs.300/- not recorded in
Cash Book. '

5) As per our standing instructions Bank paid Telephone Bill Rs.650/- but not
recorded in the Cash Book.

6) Cheque of Rs. 5000/- has been issued to our Creditors but not presented for
payment till the end of the month. 8

7) Interest credited by Bank Rs.1200/- not recorded in Cash Book.-

3



Q4) B ) Mr. Rakesh the petty cashier of RJ Associates received Rs.5000/-
on 1stJune 2024, from Head Cashier. Petty expenses for the month are

as follows: (08)
Date Particulars Amount
(Rs)

June 1 Postal stamps purchased 210
3 | Files purchased ] 45

S5 | Speed post charges 198

8 | Refreshment 450

10 | Unloading charges 170

12 Auto Fare 154

14 | Zerox charges 130

16 | Advance given to peon Mr.Arun 1000

19 Cartage : 65

20 | Bus Fare 150

22 | Tip to the watchmen 50

23 | Taxi Fare 290

28 | Plastic table purchased 350

29 | Sale of old newspapers - 80

30 | Purchased stamp pad, paper& pencil 170

30 | Gave gift to clerk omkar 251

Q5) A) Rectify the following errors from the books of M/S Das & Sons.  (08)

1. Purchase of Mach'inery Rs. 20000/- omitted to record in the bocks of
accounts.
2. Cash sales Rs.1200/-wrongly recorded as Rs 2100 .

3. Cash paid to Raju wrongly debited to Ramu’s A/C. R5.35@0f—

4. Installation charges of Machinery Rs.1500/- wrongly debited to Sundry
Expenses A/C

5. Credit purchase of goods from Amol Rs.5000 wrongly recorded in the Sales
book.



Q5) B) Mr. Manoj keeps his book under Single Entry System and gives the

following Information. (08)

Particulars 31/03/2020 31/03/2021

Cash 9000 3000

Sundry Debtors 30000 45000

Stock 28500 ; 30000

Plant & Machinery 60000 60000

Sundry Creditors 15000 18500

Bank Loan 4000 4000

Investment ‘ 10000 10000

Additional Information:

1) During the year 2020 21 Mr. Manoj has introduced Rs.2000 “-as additional
Capital. :
2) He withdrew Rs.1000/- every month for his personal use.
3) Depreciatiori to be charged on Plant & Machinery @ 10% p.a.
4) Interest on Investment Rs.1000/-
5) Maintain R.D.D @ 5% on Sundry Debtor
6) Interest on Bank Loan charged @ 10% p.a.

Q6) Virat Traders ,Mumbai purchased a Machinery worth Rs. 4,00,000/- on 1st
April2021. (12)

On 1st July 2022 , the company purcha'sed an additional Machinery for Rs. 80000/-

On 31st March 2024,company sold the Machine purchased on 1st July 2022 for
Rs.50000/-

Company writes off depreciation at the rate of 10% on the original cost and the
books of accounts are closed every year on 31st March.

Show Machinery A/C & Depreciation A/C for the year 2021-22 , 2022 - 23
& 2023 -24 :



Q7) From the following Trial Balance of Mansi Enterprise. Prepare Trading A/C
& Profit & Loss AIC for the year ended 31st March 2024, and the Balance Sheet

as on that date. (12)
Trial Balance as on 31st March 2024
Particulars Debit Credit Balance
Balance
Salaries 24000
Purchases 100000
Rent {10 months) 5000
Machinery 50000
Opening stock 10000
Sales 300000
Purchase Return 5000
Wages 17500
Loose Tools 15000
Advertisement 4500
Sundry Debtors 74000
Bad debts 8000
" ICash 60000
Bank 95000
Drawings 25000
Freight Inward 2250
Bills Receivable 12500
Sales Return - 20000
Interest Received 11500
Capital 200000
R.D.D. 1500
/Royalties on production 13750 :
Bills Payable 3500
Sundry Creditors 15000
TOTAL 536500 536500
ADJUSTMENTS:

1.Closing Stock is valued at Cost Price Rs.40000/- &amp; Market Price Rs.45000/- -

2.Goods distributed as free samples Rs.6500/-

3. Depreciation charged on Machinery @10% p.a. &amp; On Loose Tools @ 5% pa
4.Bad -Debts amounted to Rs.4000/- &Rt provided ' on Sundry Debtors. (@ 5"}:
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Q.1. (A) Choose the correct option: (05)
i) Lionel Robbins views.....

a) wants are unlimited.

b) Means are limited

c) Wants are gradable.

d) Means are alternatives useful

Options:
1) All are correct. 2) All are incorrect
3) a,b,c. 4) Only'd’

ii) Demographic features of India according to the 2011 census
a) 2.4% of world area .
b) 17.5% of world population .
c) 121.02 crore population .
d) Under populated .
Options:
1) All are correct
2) Al are incorrect
3)ab,c
4) Only “d"
iii) Partition values study
a) divided data into the equal parts
b) Study of Quartile
¢) Study of the Central tendency
d) Study of the percentile only
Options:
1. All are correct
2. All are incorrect
3. ah.c.
4. ab.

IV) First five year plan....,
a) 1951-56
b) An agricultural plan
¢) Successful plan
d) Pandit Jawaharlal Nehru (chairman )
Options
1. All are correct
2. All are incorrect
3. abc.
4.0nly d

V) L.P.G model......



a) started in 1991.
b) Dr. Manmohan singh was Architect
¢) Capitalism movement
d) Fully successful
1.All are correct
2.All are incorrect
3.a,b,c.
4.0nly d
(B) Find the odd word out (05)
i) Adam smith, David Ricardo, J.M. Keynes, J.S. Mill
if) Census1921,Census 2021,Census 2001, Census 2011
iii) Agricultural credit — Short term, medium term, Long term, Productive Credit
iv) New Economic Policy— liberalisation,privatisation, Demonetization, Globalisation
v) High poverty Ratio~ Chhattisgarh, Jharkhand, Bihar, Kerala
(C) Give economic terms: (05)
i) Itis a new framework for Five year policy.
ii) A feeling of “Lack of satisfaction”.
iii) A werker whose marginal productivity is Zero.
iv) Viha distributed equal salary to four workers.
v) The unbreakable circle of poverty.

(D) Complete the correlation : (05)

i) 1st Transition stage : Low growth of population :: 2nd Transition 352 T L R T T .

ii) Institutional Sources : Regional Rural Banks :: : Money Lenders.

iii) Divisibility money : Smaller Denomination :: . Essay to carry
from one place to another.

iv) Regulate the foreign exchange : FEMA :: Regulate security market :

v) Rural poverty : 2400 calories :: Urban poverty :



Q.2. (A) Identify and explain the following concepts (any three)
i) Rudra got 91% marks in the Board exam in 2024.
i) Difference between Birth rate Death rate.
iii) Company remains closed for a month due to repair work .
iv) Selling public sector units to the private sector.
v) Poverty that can be completely eradicated.
(B) Distinguish between (any three)
i) Quartiles and Percentiles.
ii) Fertility rate and Mortality rate .
‘lll) Absolute poverty and Relative poverty.
iv) Rural unemployment and Urban unemployment.

v) First Five Year plan and second five year plan.
Q.3. Answer the following (any THREE)

i) Explain the role of Human Resources In economic development.
ii) Explain economic effects of Unemployment.

iii) What are the main objectives of New economic palicy 1991.

iv) Explain any Four measures to eradicate poverty.

v) Find out Q3 for the following data.

(06)

(06)

(12)

Marks 0-10 |10-20 |20-30 | 30-40 | 40-50 50-60

60-70

No. of 15 46 44 |05 50 o7
Students.

13

Q.4. State with reasons whether you agree or disagree with the following statements

(any THREE)
i) Economic development is possible without economic growth.

(12)



ii) Birth rate is increasing in India.

lii) Frictional unemployment is permanent by nature
iv) Relative poverty is a universal problem.

v) NEP1991 programme was fully successful in india.

Q.5. Study the following table, figure,passage and answer the questions given below

it (any TWO) (08)
Investm | 0-10 | 10-20 | 20-30 | 30-40 |40-50 | 50-60 60-70 | 70-80 | 80-90 | 90-100
entin
lakhs
No.of 10 (15 -05 22 08 02 01 05 07 05
firms

1) Find out cumulative Frequency . 1
2) Find out mean investment of firms. - 2
3) Whatis the N value of the above table? 1

ii) Poverty in India remains a major challenge despite overall reductions in the last
several decades as its economy grows. According to an International Monetary Fund
paper, extreme poverty is defined by the World Bank as living in US dollars 1.9 or less
in purchasing power parity terms.

1) What is the long form of ( IMF) ?

2) What s the lang form of ( PPP) ?

3) What is the currency Name of America?

4) What are the measure challenges before India ?

—_— e A

i) Draw the Demographic transition graph.By using following information 4
Stage 1st..High Birth rate and High Death rate

Stage 2nd High Birth rate and Low death rate

Stage 3rd Low Birth rate and Low Death rate.

Q.6. Answer in detail (any TWO) ' (16)

i) Explain sourcegof Agricultural Credit in India.

i) Explain’popuration Explosion®and causes of population explosion .

iil) Explain the causes of unemployment in India.
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Instructions:

s  All questions are compulsory. There may be internal options.

e Answers are to be written in complete sentences. One-word answers or incomplete sentences will not
be given credit.

s Figures/web-diagrams/charts/tables etc. should be drawn and presented completely with proper
gnswers written as instructed.

e Use of color pens/pencils etc. is strictly not allowed. (Only blue/black pens allowed.)

SECTION | - PROSE
Reading for comprehension, Language Study, Summary, Note Making / Mind Mapping

Q. 1 (A) Read the extract and complete the activities given below: 16

If we wish to maintain democracy not merely in form, but also in fact, what must
we do? The first thing in my judgment we must do is to hold fast to constitutional methods
of achieving our social and economic objectives. When there was no way left for
constitutional methods for achieving economic and social objectives, there was a great
deal of justification for unconstitutional methods. But where constitutional methods are
open, there can be no justification for these unconstitutional methods. These methods
are nothing but the Grammar of Anarchy and the sooner they are abandoned, the better
for us. '

The second thing we must do is to observe the caution which John Stuart Mill has
given to all who are interested in the maintenance of democracy, namely, not “to lay their
liberties at the feet of even a great man, or to trust him with powers which enable him to
subvert their institutions.” There is nothing wrong in being grateful to great men who have
rendered life-long services to the country. But there are limits to gratefulness. As has been
well said by the Irish Patriot Daniel O’Connel, ‘No man can be grateful at'the cost of his
honor, no woman can be grateful at the cost of her chastity and no nation can be grateful
at the cost of its liberty.” This caution is far more necessary in the case of India than in the
case of any other country, for in India, Bhakti or what may be called the path of devotion
or hero-worship, plays a part in its politics unequalled in magnitude by the partit plays in
the politics of any other country in the world. Bhakti in religion may be a road to the
salvation of the soul. But in politics, Bhakti or hero-worship is a sure road to degradation
and to eventual dictatorship. On the 26th of January 1950, we are going to enter into a
life of contradictions. In politics we will have equality and in social and economic life we
will have inequality.

A1l. State whether the following sentences are True or False. 2
1. There is nothing wrong in being grateful to great men.
2. In politics, hero-worship leads to dictatorship.

A2. Complete the following: 2
1. To achieve our social and economic objectivities, we must hold fast to .....
2. A state of disorder due to the absence or non-recognition of controlling systems”
or constitutional methods for achieving economic and social objectives is
called.....



A3. Dr. Babasaheb Ambedkar has cited the quote by John Stuart Mill in the passage,
discuss the same. 2

Ad. The author says, “This caution’ is far more necessary in the case of India thanin
the case of any other country. Explain. 2

A5. Complete the following sentences the ways are instructed. 2
1. In politics we will have equality and in social and economic life we will have
inequality. (Identify the tense)
2. No man can be grateful at the cost of his honor. (Identify modal auxiliary and
state its function) :

A6. Match the following words in column ‘A’ with their meaning in column H, 2

Sr. N. A B

1 Subvert a. Destroy
2 Render b. Contribute something
3 Chastity c. Worsening in quality
4 Degradation d. Virtue
] e. Great admiration
(B) Grammar/Language Study (Non-textual) 4

1. We saw small bits of grass peeping through ... small cracks in ... cancrete
pavement. (Fill in the blanks with appropriate articles)
2. Business begins and ends with that simple precept. (Change the voice)
3. Tata Group launched the passenger car Tata Indica. :
(Rewrite it beginning with ‘The passenger car Tata Indica....")
4. | has picked the some of the lovely, tasty apple.

(Spot the error in the given sentence and rewrite the correct sentence.)

Q2 (A) Read the extract and complete the activities given below: 18

Dairy farming is a major livelihood followed by many households in rural
areas. This includes rearing milk cattle - cows, buffaloes, goats and sheep. Thereis a
shortage of milk in the country as consumption in both urban and rural areas has
risen sharply. : _

Dairying is an important source of subsidiary income to marginal farmers and
agricultural labours. They play a very important role in milk production of the
country. In 1986 - 87, about 73 percent of rural households owned livestock.
According to the National Sample Survey of 1993 - 94, livestock sector produces
regular employment to about 9.8 million persons in principal status and 8.6 million in
subsigiary status, which constitute about 5 percent of the total work force.

- The Manure from animals provides a good source of organic matter for

improving soil fertility and crop yields. The gas obtained by processing dung is used

2



as a fuel for domestic purposes and also for running engines to draw water from
wells. The surplus fodder and agricultural by - products are gainfully utilized for
feeding the animals. Since agriculture is mostly seasonal, there is a possibility of
finding employment throughout the year for many persons through dairy farming.

The milk processing industry is a small one. Only 10 percent of all the milk
produced is delivered to some 400 dairy plants. A specific Indian phenomenon is the
unorganized sector of milkmen and vendors, which handles around 65 - 70 percent
of the national milk production. They collect milk from local producers and sell it in
both urban and non - urban areas

Questions:
Al. What is the main theme of the extract? 2
A2. How is dairy farming beneficial for farmers besides getting milk? 2

A3. What information does the National Sample Survey of 1993 - 94 provide? 2
A4. How, according to you, can dairy farming improve the financial condition of
-farmers? 2
A5. Rewrite the following sentences in the ways instructed: 3
(i) The gobar gas obtained by processing dung is used as fuel.

(Rewrite the sentence beginning with 'People.....’)

(i) The consumption of milk in both urban and rural areas has risen sharply.
(Rewrite the sentence using the past perfect tense)

(iii) The milk processing industry is a small one. (Make is a complex sentence)

A6. Form the antonyms of the followihg words by adding prefixes. 1
() Fertility X cuioeriusinivisess

(i) possibility X ......cceerruaees

B. Summary Writing: ' 3

Write a summary of the above extract with the help of the following points and
suggest a suitable title:

Dairy forming - major livelihood - income and employment source - uses of dung -
uses of surplus fodder - role or unorganized sector.



(C) Mind Mapping: 2

Draw and complete the following mind mapping diagram with help of the clues
provided in the brackets:

Clues: Pongal, Mahashivratri, Holi, Gudi Padwa, Akshay Tritiya, Vat Pournima, Guru
Pournima, Nag Panchami, Ganesh Chaturdashi, Navaratri, Diwali, Christmas

y O, [
P January to February
t - 12—
November to December I
: March to April
\ SEASONS OF INDIA /
/ May to June
September to October 1
l T N e
S July to August
12
4



ECTION 1i— POETRY & POETIC APPRECIATI

R T R e S A TR

Q. 3 (A) Read the extract and complete the activities given below: 10

Sitting in a porchway cool,
Sunlight, | see, dying fast,

Twilight hastens on to rule.
Working hours have well-nigh past.
Shadows run across the lands:

But a sower lingers still,

Old, in rags, he patient stands.
Looking on, | feel a thrill.

Black and high, his silhouette
Dominates the furrows deep!

Now to sow the task is set.

Soon shall come a time to reap.
Marches he along the plain

To and fro, and scatters wide
From his hands the precious grain;
Muse |, as | see him stride.
Darkness deepens. Fades the light.
Now his gestures to mine eyes

Are august; and strange; his height
Seems to touch the starry skies.

Al. Pi;k out any two lines form poem that depict imagery in them. : 2
A2. Compose four poetic lines on ‘Hard work’. ; 2
A3. What difficulties do Indian farmers face in India. Explain. 2
A4. Name and explain the following figures of speech. 2

‘Seems to touch the starry skies’

AS. Match the following words in column ‘A’ with their meaning in column B’ 2
Column ‘A’ Column B’
1. varanda A. august
2.hangs around B. furrows
3.trench -| C. porchway
4. noble D. lingers
E. muse




Q 3. B. Read the extract and write the appreciation of the given extract based on
the following aspects. 4

They plan. They build. All spaces are gridded
Filled with permutations of possibilities.

The buildings are in alignment with the roads
which meet at desired points

linked by bridges all hang

in the grace of mathematics.

They build and will not stop.

Even the sea draws back

and the skies surrender.

They erase the flaws,

the blemishes of the past, knock off
useless blocks with dental dexterity.
All gaps are plugged

with gleaming gold.

The country wears perfect rows

of shining teeth.

Anaesthesia, amnesia, hypnosis.
They have the means.

They have it all so it will not hurt.
so history is new again.

The piling will not stop.

The drilling goes right through

the fossils of last century.

But my heart would not bleed
poetry. Not a single drop

to stain the blueprint

of our past’s tomorrow.

¢ About the poem, poet and title

e Theme and its significance

e Poetic style, Language features / Poetic devices
e Inspiring message, values, morals reflected

e Your opinion about the poem.
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Letter Writing:
1. Write a letter to the Editor, Maharashtra Times, Kolhapur, expressing the problem
of garbage dumping in your local area.

You may take help of the following points.
* Garbage makes the area dirty.

* Different types of garbage.

* Increasing pollution

* Threat to health and environment.

* Expected solutions to this problem.

OR
E-mail writing:
2. Write an e-mail in the proper format to The Manager of TikTok Tours and Travels

Company (tiktoktolrs@gmail.com) enquiring about the tour package with the help
of the following points.

* \Write about your route and duration of tour.
* Enquire about halting and boarding charges.
* Ask for special offers
* Add your own points

Expansion of an idea:

1. Expand the following idea with the help of the points given below.
'If winter comes, can spring be far behind?*

* The meaning of the proverb

* The cycle of joy and sorrow

* The positivity in the proverb

* Another proverb expressing the same idea

OR

Blog writing:

2. Write a blog in a proper format on ‘YOGA -A way of life’ with the help of the
following points. (Write in.about 100 words.)

* Definition of Yoga

* Mental health benefits

* Physical health benefits

* How one can include Yoga in their day-to-day routine

7



OR

Film review - .

3. Write a review of a film you have recently seen based on any four followin
points:

* Names of the characters

* Why do you like / not like the film?

* Special features / novelties / novel ideas

* Music / Dance / Songs /Action / Directions

* Should others watch this film / would you recommend your friends to watch this
film? Why? :

Appeal:
1. Prepare an appeal on the topic ‘Blood Donation’ with the help of the following
points. |
_* Prepare effective slogans
* Use a logo / picture chart
* Advantages of conserving water
* Make the appeal persuasive

OR
Report writing:

2. Your junior college celebrated India's 70th ' Republic Day . Write the report of
the function with help of the following points.

* Beginning of the function

* Flag hoisting ceremony

* Address of the chief guests

* Report about the function

* \ote of thanks

OR

View — Counterview:

3. Prepare a paragraph to be used for the counterview section on the following topic
' Sports should be optional in colleges.'

You can take help of the following points in the ' view ' section.

* Heavy burden if studies

* No time for sports

* More importance to academics

* Lack of proper infrastructure



Compering:
1. Imagine that you are compering the ' Cultural Programme ' of your junior college.
Prepare a script for compering the programme with the help of the following points.

* A brief introduction about the programme.
* Welcome song

* Welcoming the guests

* Felicitation

* Main function

* Presidential speech .

* Vote of thanks .

OR

Speech:

2. Prepare a brief speech to be delivered for the farewell programme for 12th class
students arranged in your school/college with the help of the following clues.

i) Your feelings about their company

ii) How they helped and guided you

iii) Your valuable advice to them

iv) Best wishes for their upcoming exam

OR

Dialogue writing: Ry

3. Write a dialogue between the two friends who are discussing the announcement
of team India for ‘Champions Trophy’ final match against New Zealand. -

OR

Interview:

4. Imagine you are to interview any famous personality in your area. Frame a set of 8
to 10 questions to interview him / her.

You may take the help of the following points -

Introducing the guest

Early Motivation

Professional Development
Problems / difficulties he faced
Family support :
Inspirations

Future plans

Achievements

Message

Mission/Vision
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Q. 4 (A) 1. Choose the correct alternative and rewrite the following statements. 2
L L S S

a) peculiarities of characters . b) flat and round characters .
c) series of events occurring in the play . d) character's thought process .

2 ) The protagonist is the ........ccec....
a) minor character b) main character
c) opposing character - d) major character

3 ) The author of ' Romeo And Juliet ' Was .....ccccceeeen .
a) Howard Pyle b) John Webster

c) William Shakespeare d) John Dryden
4 ) Comedy is a drama with ....... R
a) unhappy ending b) happy ending
c) sorrowful events ‘ d) sufferings
2) Match the following: . 2

'A' (Period) ' 'B'(Type of drama)

a) Medieval period i) Poetic drama

b) Renaissance period ii) Historic plays

c) Restoration period iii) Didactic plays

d) Modern period i iv) Revenge plays

v) Kitchen sink drama

(8) Answer in about 50 words to the questions given below. 4
1. Describe the character of ' The Man ' from “the Rising of the Moon.

2. Comment on the following dialogue from the play ‘The rising of the Moon’

'And if we get him itself, nothing but abuse on our heads for it from the people, and
may be from our own relations '

(C) Answer in about 50 words to the questions given below. 4

1. Describe the theme of the drama ' A Midsummer Night 's Dream.’
2. ' AMidsummer Night 's Dream ' is a comedy of errors. Explain.

(D) Answer in about 50 words to the questions given below. 4

1. Write the character sketch of Dr. Stockman
2. Discuss the plot of the play “An Enemy of the people’.

10



MLDC Final Exam 80 marks Subject = French FYJC 2025

Q1. A. Choisissez la bonne réponse et récrivez la phrase (6 au

choix)

; 5

d.

. Les étudiants de Francais retournent a I'école en

Le Grand-Place est trés attirante avec les maisons du

19 siecle b. 17 siecle c. 20 siecle

. En hiver, on sur glace.

. fais du patinage b. joue au hockey c. faire des sports nautiques
. C’est un systéme de vélos en libre-service est_______

. la carte Navigo b. le vélib c. DAB

. La Basilique du Sacré Coeur se trouvea

. Nice b. Montmartre c. Bretagne

est un musée a Paris

. Le Centre Pompidou b. Le Grévin c. LArc

. janvier b. décembre c. septembre

. On célebre la féte de la Musique le ______
.21 juin b. 21 juillet c. 21 mai

.’La dame élégante de Paris est ____

. "Auchan b. le Monoprix c. le Printemps.

Q1 B. Répondez en frangais par des complétes: (5auchoix) 10

i
2.
3,
.
5.

Quelle saison aimez-vous? Pourquoi

Nommez deux nationalités des étrangers qui habitent a Bruxelles.
Nommez deux sites touristiques a Paris.

Nommez deux sports qu’on fait au Canada.

Quels sont les moyens de transport de votre ville?
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6. Nommez deux sites touristiques de Brest.
7. Comment sont les hivers et les étés au Maroc?
8. Nommez les grandes chaines des supermarchés en France.

Q2 Grammaire
A. Complétez le texte ave les mots donnés entre parenthése : 4
( grand, cuisine, belle, un, beaux, nouveau, anciens, moderne)

M. Smith est ___ Anglais. Il arrive 3 Paris, la capitale de la France. Il habite dans
un hétel . Pour M. Smith, la visite & Paris c’est I'occasion de découvrir un
pays. A huit heures chaque matin, M. Smith part. Il visite les monuments_____,
les musées, les parcs et les jardins de Paris. M. Smith adore la — frangaise et
mange dans les restaurants différents. Aprés une semaine, M Smith retourne 3 son
pays, bien content.

B. Remplacez les mots soulignes par un pronoms qui convient : (6 au choix)

1. Nous allons chez les Shroff.
2. Elle ouvre |a boite de chocolats.

3. Ce sont mes cousines qui aiment la féte.
4. Envoyez des fleures 3 Pierre.

5. Jeanne, elle va 3 I'école.

6. Voila |es papiers.

7. Ne donnez pas les chaussures.

8. Cette dame parle 3 Henri.

C
6

. Complétez avec les prépositions convenables (6 au choix)

1. Il joue tennis. (a/de)

2. Vous jouez violon. (a/de)
3. Tournez ____droite (a/au)

Il va Afrique (a/en/aux/au)

&
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5
6.

Dimanche, je suis mes parents (aux/chez)
Elle vient ___ France (a/ en/de)
En Inde, Il pleut la mousson ( au/ en/pendant)

Paul va a I'école vélo (en/a)

. Faites comme indiqué : (5 au choix) 5
. Le vieil acteur parle au coiffeur (mettez au féminin)

. Cesont les imagesde ____ parents (mettez au adjectif possessif)

. C’est une belle image. (Mettez au négatif)

. Tu achétes un chapeau gris. (mettez au pluriel)

Jaime ce dictionnaire (Remplacez les mots soulignés d’un pronom objet direct)

Dans ___ sac mettez-vous votre livre? (Remplacez avec 'adjectif interrogatif-

quelle/quels/ quel/quelles)

7.

voyages-tu en France? (Combien de, pourquoi) (Complétez avec le mot

interrogatif)

E. Mettez les verbes entre parenthéses au temps ou au mode indiqué (5 au choix) 5

G o R

6.

Juliette (visiter- Passé Récent) Paris, il y a dix jours.
(Ouvrir)-elle la fenétre? (Présent)

Ne (partir) pas sans votre passeport. (Impératif)
Mon pére (acheter) les chocolats. (Passé Récent)
Les enfants (attendre) leur mére (Présent)

Que (faire)- vous? (Future Proche)

7. (Comprendre)-vous bien la lecon? (Présent)

Q3. Vocabulaire

A,

:

2.

3

Que dites-vous dans les situations suivantes: (2 au choix) 2
Quand on dit “merci”
Quand on part pour I'étranger

Quand il fait beau
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4. Clestle premier jour de 'examen
B. Complétez les phrase avec un mot ou une expression juste: (2 au choix)
1. En hiver, il fait ___ en France.
2. Quand il pleut sans cesse, souvent il y a des
. Catherine achéte du pain chez le

3
4, Quelquefois, il y a des et la vie est difficile.
C

. Reliez les deux colonnes: 4
1. Le Carnaval de Nice a. LArche de la défense.
2. Le festival de bandes dessinées b. parce qu’il y a des inondations
3. La construction moderne 3 Paris c. est en février.
4. La vie est difficile d. Angouléme
D. Faites comme indiqué ( 2 au choix) 2

1. faire, aller, lire, arriver (Chassez intrus)
2. sortir/avec/amis/vous/vos/allez? (Reconstruisez la phrase)

3. Eric est mince. (Donnez le contraire du mot souligné)

Q4. Compréhension
Lisez le texte et répondez les questions 10

Jennifer est étudiante. Elle est anglaise. Elle apprend le francais a I'école. Elle parle
bien le francais et I'anglais. Elle travaille dur. Elle finit toujours ses devoirs a
Fheure. Les professeurs sont contents avec elle. Elle aide aussi ses amis. Le
dimanche, ils font un pique-nique. Ils vont dans un jardin prés de leur maison et ils
jouent, ils chantent, ils s'amusent(have fun). La mére de Jennifer fait de trés bons
sandwichs. Elle fait des sandwichs pour Jennifer et ses amis.

Questions:
A. Répondez aux questions par des phrases completes: (3)
1. Quelle est |a nationalité de Jennifer?

2. Quelles langues parle-t-elle?
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3. Ou font-ils un pique-nique?

B. Complétez avec un mot dﬁ texte: (2)
1. Les enfants jouent dans un

2. Ma mére faitdes ______pour nous.
C. Dites “vrai ” ou “faux” (2)

1. Le pére est content avec elle.

2. Elle est anglaise.

D. Trouvez dans le texte: (3)

1. le contraire de : jamais

2. un adjectif

: 3. Infinitif de : aide _

Q5. Ecrivez un mél (d’environ 8-10) sur le sujet suivant :
(6 notes)

A. Rohit Sharma (rohit123@gmail.com) écrit un mél a Emmanuel Vincent
(ev132@gmail.com) comment on célébre la féte de Diwali en Inde.

Ou

B. Isha Dashi, une étudiante écrit un blog sur le sujet suivant: (en 7-8 lignes)

“Ma saison favorite en Inde”

(quel temps fait-il?, les fétes, les vétements, les fruits, les légumes.....)

Q6. A. Traduisez en anglais : 6

Moi, je suis en vacances. |l fait beau et chaud a Nice, c'est génial!l Je suis bien
contente de mes nouveaux copains du camping. Nous sommes occupeés toute la
journée. Je fais des activités variées.... je joue au volley sur la plage. Je faisde la
randonnée et des visites de villes. On danse et on chante le soir dans la discothéque

du camping.

Aprés deux semaines de camping, je rentre a la maison de mes parents. Je vais
passer le reste de mes vacances avec eux.
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o u a

- Traduisez en frangais (3 au choix)

| hate doing housework!

Walk straight ahead and turn left at the crossroad.
There is nothing in my bag.

Do you write letters to your father?

He just came from Canada.

Robert is going to send a mail to his friends.
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PTVA’s M. L. DAHANUKAR COLLEGE OF COMMERCE

FYIC: Annual Examination 2025

DATE: 03 April 2025 DURATION: 3 Hours
SUBJECT: GERMAN TOTAL MARKS: 80
1) Beantworte fiinf der folgenden Fragen in mindestens zwei Sdtzen. 10

a) Nenne vier Sachen in deiner Schultasche.

b) Wann hast du Geburtstag?

c) Wie heiRen die Hauptstddte von Deutschland und Osterreich?
d) Wo liegt deine Wohnung? Wie viele Zimmer hat sie?

e) Was gibt es in deinem Schlafzimmer? Was brauchst du nocl: fir deine
Kiche?

f) Was machst du am Sonntag?
g) Wie heiltt dein Lieblingssportler? Was spielt er?

2) Leseversténdnis: Lies die folgenden Texte und bearbeite die Aufgaben.
16

a) Lesetext 1 08

Das ist Maja. Sie wohnt in Berlin. Sie hat eine Schwester- Karin (14) und einen
Bruder — Jim (16). Jeden Tag frithstiicken alle zusammen. Maja féhrt zur
Arbeit. Ihre Geschwister gehen zur Schule. Maja arbeitet als Kellnerin im
Restaurant. Sie hat einen Freund. |hr Freund heisst Boris.Seine Familie kommt
aus Australien, aus Sydney. Er ruft Maja jeden Tag an. Aber sie treffen sich nur
am Wochenende, denn an Wochentagen hat er keine Zeit. Er will Arzt werden.
Er studiert Medizin und sagt: ,, Wir miissen viele Buecher lesen. Unser
Studium dauert 6 Jahre und es ist sehr anstrengend. Am Ende schreiben wir
eine Priifung. Unsere Priifung ist schwer. Spater machen wir ein Jahr
Praktikum und dann werden wir Arzte.”

Boris fragt Karin und Jim: ,Was wollt ihr werden? Was ist euer Traumberuf?”
Karin antwortet: ,Ich will Maler werden. Mein Bruder spielt gern Klavier. Er
will Musiker werden.Jim fragt:;, Hast du auch Geschwister Boris?“ Boris
sagt:, Nein, ich habe keine Geschwister.”

i} Beantworte die folgenden Fragen. 02
(1) Was ist Maja von Beruf?

(2) Woher kommt Boris?

ii) Sind filgende Sitze Richtig oder Falsch? Korrigiere die falschen Satze. 03

1) Maja hat keine Geschwister. Richtig/ Falsch

1



(2) Boris will Arzt werden. Richtig/ Falsch
(3) Karin malt gern. Richtig/ Falsch
(4) Jim Studiert Medizin. Richtig/ Falsch

iii) Suche aus dem Text 03
(1) zwei Stadte

(2) zwei Berufe

(3) Gegenteile von einfach und friiher

b) Lesetext 2, 08
Liebe Susanne,

wie geht es dir ? Ich mache zur Zeit am Ostsee Urlaub mit meiner Familie in
Deutschland. Hier ist es alles so schén. Wir waohnen in einem tollen Hotel. Es
heifdt ,Delfin”, Es ist teuer, aber die Zimmer sind groR und schén.

Das Wetter ist schén. Der Strand ist super. Mein Vater, meine Mutter, meine
Schwestern und ich, schwimmen jeden Tag. Vati liest viel. Mutti und ich gehen
auch manchmal spazieren. Ich habe meine Kamera hier und mache viele
Fotos. Meine Schwestern, Ira und Anna spielen gern Basketball.

Wir haben hier keinen Computer und wir sehen auch nie fern. Kein Internet,
kein Fernsehen : das finde ich super. Nachmittags spiele ich oft mit Ira und
Anna Karten. Das macht SpaR.

Es gibt viele Restaurants hier. Ich kann mein Lieblingsessen — , Spaghetti-
Bolognese” essen. Wir essen auch manchmal Fisch. Das ist auch lecker.

Wie geht es bei dir zu Hause? Musst du viel lernen? Wann hast du Ferien ?
Wohin gehst du in den Urlaub ? Ich warte auf deine Antwort.

Viele schéne GriiRe aus Deutschland!

Julian

i) Beantworte die folgenden Fragen. 02
(1) Mit wem spielt Julian Karten?

(2) Was isst Julian immer gern?

i) Sind folgende Sitze Richtig oder Falsch? Korrigiere die falschen Satze. 03

(1) Julian macht Urlaub am Bodensee Richtig/ Falsch



(2) Julian macht viele Fotos. Richtig/ Falsch
(3) Die Kinder spielen abends Karten. Richtig/ Falsch

(4) Die Familie wohnt in einem Hotel. Richtig/ Falsch

iii) Wie steht das im Text
(1) Das finde ich wunderbar.
(2) Das schmeckt gut.

(3) Ich fotografiere viel.

3) Wortschatz (Alle Fragen sind obligatorisch.)

a) Welches Wort passt?

i) Boris: Vorname Becker:

ii) Kiiche: Mikrowelle Wohnzimmer:
iii) Monsun: Regen Sommer:
iv) Freitag: Wochentag Mai:

b) Ergdnze das richtige Wort.

i) Morgen ist Sonntag. Heute ist

ii) Eine hat 7 Tage.

lii) Eine Stunde hat 60 .

iv)Ein ____ hat 12 Monate.

c) Was passt nicht?

i) Morgen, Abend, Nacht, Jahr

ii) Montag, Geburtstag, Mittwoch, Sonntag
i) Italien, Deutsch, Hindi, Spanisch

iv) Bleistift, Buch, Kugelschreiber, Fiiller

d) Nenne

i) zwei Jahreszeiten

ii) zwei Hobbys

e) Ergiéinze den Text mit passenden Wortern aus dem Kasten.

(Osterreichisch/ Deutsch)

i) In Osterreich spricht man

03
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e

ii) Eine (Franzose/Franzésin) kommt aus Frankreich.

iii) Der Tee hat die Farbe (blau/ braun).

iv) Er serviert die Gaste im Restaurant und ist (Kellner/ Bicker) von

Beruf.

f) Schreibe bitte die Gegenteile. 02
iJgroBX___ i) langsam X ___

iiihellX iv)gutX__ -

4) Schreibe eine Email an deinen Freund in Deutschland und beschreibe deine
Wohnung. 08

Wo liegt sie?, Wie groR? Wie viele Zimmer? Beschreibe die Zimmer. Was macht
ihr zusammen im Wohnzimmer? Lieblingszimmer'? ( Nur 8 Sitze.)

ODER
Schreibe einen Blog iiber deinen Alltag. 02

aufstehen, frilhstiicken, zur Schule gehen, Hausaufgabe machen, Freunde treffen
- spielen, fernsehen, Abendessen, Schlafen. (Mus @ Sisar )

5) Grammatik. . 26
a) Welches Verbform passt? (Nur 3) 03
i)Um8Uhr____ die Schule — . (a.fangen...an/ b. féngt...an)

ii) Peter das Fenster ___ . (a. macht...zu/ b. machst...zu)

i) Maria die Kindervon der Schule —(a. hole...ab/ b. halt...ab)
iv)Ich_____ meine Biicher immer ___. (a. bringen...mit/ b. bringe...mit)

b) Ergéinze die richtigen Personalpronomen.(Nur 3) 03
i) Der Tisch ist zu groR. —_kaufe ___ nicht. (a. Es, sie/ b. Ich, ihn)

ii)Wiegeht | Peter und Paul? (a. es, ihnen/ b. es, euch)

iii) Karin, wo bist ? Deine Mutter sucht - (a. du, dich/ b. es, euch)

iv) Hast Zeit, Maria? Oma méchte sehen. (a. du, dich/ b. ich, mich)

c) Ergénze passende Prapositionen und Artikel. (Nur 3) 03
i) Er geht jeden Morgen Park spazieren. (a. durch den / b. fiir die)
ii) Rita spielt heute Freundin Martha. (a, gegen ihre/ b. entlang ihren)

iii) Er kommt immer — Bicher zur Klasse. (a. ohne seine/ b. bis seinen)
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iv) Die Kinder laufen Baum. (a. umden / durch die )

d) Ergénze Possessivartikel. (Nur 3)

i) Die Kinder fragen ______ Eltern {iber das Picknik. (a. seine/ b. ihre)
ii) Marco und Peter, heiRt ____ Schwester Tina. (a. eure/ b. ihre)
iii) Rina und ___ Mutter fliegen nach Berlin. (a. lhre/ b. ihre)
iv)Woist ___ Tasche, Herr Martins? (a. Ihre/ b. ihre)

e) Bilde Fragen. (Nur 3)

i) Herr Moses arbeitet bei Siemens.

ii) Sona fliegt morgen nach Japan.

iii) Der Deutschunterricht dauert 45 Minuten.

iv) Meine Mutter arbeitet sieben Stunden jeden Tag.

f) Formuliere Tipps. (Nur 3)

i) langsam fahren (du form)

ii) keine Angst haben (ihr form)

iii) schnell laufen (Sie form)

iv) das Zimmer aufrdumen ( du form)

g) Bilde sinnvolle Sitze. (Nur 3)

i) ich/méchten/ machen / eine Reise.

ii) jeden Tag/Herr und Frau Baumgartner/ihre Freunde/ anrufen?
iii) Die Freunde / Spanisch / sprechen/ sehr gut.

iv) Kinder,/ was/ essen/ wollen/ihr?

h) Ergédnze die richtige Modalverb. (Nur 3)

i) Walter _ am Wochenende spat aufstehen. (a. durft/ b. darf)

i) Ich jeden Tag um 12 Uhr zur Schule gehen . (a. miisse/ b. muss)
iii)Du___ um 11 Uhr in Hamburg sein. (a. kannst/ b. k&nnst)

iv) Wir ____ die GroReltern in Australien besuchen. (a. wolit/ b. wollen)

i) Ergdnze die richtige Verbform im Préteritum. (Nur 2)

i) Gestern Montag.(wart/war)

03

03

03

03

03
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ii) Ich ____ keine zeit. (hatte/hatten)

iii) Am Abend _____ich miide. (ware/war)
6) Wie sagt man das auf Deutsch? (Nur 4)

a) He orders a Hamburger and a cola.

b) My house has three rooms and a kitchen.

c) Will you visit me on the Weekend?

d) How much does the Sofa cost?

e) Her father is a pilot by profession.

f) Rohan does not play tennis but instead cricket.

08
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Q.1. Fill in the blanks:- 10M

SSL Stands for
Software piracy is nothingbut___ .

act are contained in the L.T. Act 2000.
The cannot be overwritten by the computer.
GIS stands for
The __ commandis used to modify table.
The type stores fixed length string.

operator is not equal to operators

is a collection of different element also called as controls.

0. event occurs when user releases key.

i B S ol

Q.2. True or False:- ' 10M

1. Computer accepts data by way of input.

2. Hacking refers to unauthorized intrusion into a computer network.
3. The IT Act 2000 was amended in 2008 and 2011.

4. Result of relational operators is Boolean value.

5. <navigation> defines a container for navigation links.

6. DML is related to security issue.

7. Relational model is a secondary data model.

8. Internet is defined as a local network.

9. Scripts are use to generate static web pages on the web page.
10. The top bar of Ubuntu has date and time.

Q.3. Multiple choice questions (one answer):- 10M

1. is an act performed by a knowledgeable computer user.
a. cyber crime b. computer crime c. copyright d. hacklng
2. is typically carried out by email spoofing.
a. cracking b. 'plagiarism c. phising d. hacking
3. LT Act aims to provide the legal infrastructure for in India.
a. E-commerce b. E-market c. E-business d. EDI
4. Javascript returns when variable which is declared but not assigned.
a. Null b. string ¢. infinity d. undefined
5. <input type=" "> creates a single line textbox.
a. text b. textbox c. textarea d. input
6. The webpages are retrieved from the original location with the help of
a.website - b. webpage c. webbrowser d. URL
7. A is a smallest unit which can represent data or character.
a. Bit b. Byte c. Nibble d. Bits
8. The is scientific study of algorithmsand statistical models.
a. cloud computing  b. green computing c. loT
d. machine learning -
9. Transaction have standard properties.
a. four b. six c. eight d. seven
10. Each has individual name
a. row b. record c. field d. table




Q.4. Multiple choice questions(select two answer):-

1. access without the user's permission is known as .

a. accessing b. gaining c. unauthorised access

2. Following are the secondary storage devices.

a. flash memory b. RAM c. ROM d. magnetic disk

3. Qutput unit displays data to users with k devices.
d.screen

a. keyboard b. OCR ¢. monitor
4. Following are DDL commands.

a. create table b. Drop table c. delete table  d. delete database

5. DBMS is a software for and databases

a. refrieve b. creating c. Manipulate d. managing
6. In encryption, the idea is to ensure and safety of data and its
a. transmission b. authorised access c. security d. fransaction

7. Operators are used to do and operator

a. conditional b. logical c. arithmetic d. sequential
of right and wrong

8. is the standards of behaviour,
behaviour
a. Security b. Moral c. Principles d. laws
9. Following are the atfributes of <hr>tag
a. color b. bgcolor  c. size d. src
10. Following tags are used to create drop-down list
a. <select> b. <option> c. <list>  d. <input>

Q.5. Multiple choice questions(select three answer):-

1. Computer crime is alternatively referred to as and
a) laws b) cyber crime ¢) e-crime
d) cyberlaw e) hi-tech crime .
2. Variable name may consist of: ; and characters.
a) alphabets b) symbols c) keywords
d) digits e) underscore

Q.6. Match the following:-

Column A Column B
1. firewall a. input unit
2. pen joystick b. italic  text
3. <i> c. Storing integer
4. int d. network security

Q.7. Answer the following (any 5):-

Explain sailent features of IT ACT of India, 2000
Define : (1) hacking (2) phising.

Explain unauthorised access.

Explain moral and ethics.

Explain types of network.

Explain relationships in database.

Explain linux commands.

Explain properties of fransaction.

e 2ol gl ey

10M

20M

d. authorised access

06M

04M



Q.8.A. Write a program using HTML code for the following output

use of form

Enter your name |

Enter your standard : O 11%8 O E 5
Choose vour optional subjects :

O Hindi

O German

O Biology
OJIT

ubmit

OR

05M.

Q.8.A. Write a program using HTML code to create a form for the following output :- 05M

Maximum Temperature in
Place ' State °C
Wardha 47.5
i Maharashtra 46.4
Khajuraho Madhya Pradesh 46.4
Sagar . 46.2

Q.8.B. Write a javascript program to check whether the legth of the string is 4 or greater. 05M

OR

Q.8.B. Write a javascript program to accept two numbers and perform addition of

two numbers by using mouseover event

05M
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MLD ¢ | FY3¢] A/ 20425 [mATH] 80

Time : 3 Hours
Total Marks - 80

General Instructions:

1) All questions are compulsory.

2) There are 6 questions divided into two sections.

3) Write answers of Section | and Section Il in the same answer book.

4) Use of logarithmic tables is allowed. Use of calculator is not allowed.

5) For Linear inequation graph paper is not necessary. Only rough sketch of graph is
expected.

Section |

Q.1 A) Select and write the most appropriate answer from the given
alternatives for each sub-question. ' [6 M]

i) The set {x/x € I, X is not positive} is
a) Singleton Set b) NullSet ¢) Bothaandb d) None of these

ii) If f(x) = 3x+5, g(x)=6x-1 then (f—g ) (2) is
a) 3 b) 6 00 d)1

iii)  If Wisthe complex cube root of unity, then value of (1+ W?)? is

a) 1 . Bl 00 d) 6
=g
iv) Thevalueof [0 2 5] is
G e I
a) 12 b) 6 c)5 d) 0
(x2—4) : : .
v) If f(x) = X # 2 is continuous at x=2 then value of f(2) is
a) 4 b) 2 c)8 D) 3

vi) The supply S of a commodity at price P is given by S=P2-3. When price is 7 then
marginal supply is
a) 3 b)2 c) 14 d) 13




B) State whether the following statements are true or false. [3 M]

i) If A={3,5}and B = {2,4} then, AxB = {(2,3), (3,4), (5,2), (5,4)}.
. o a
ii) If f(x) = 3x%+4 then, dx-6x+4.

iii) If A,G,H are the A.M., G.M. and H.M. of two positive numbers respectively
then G = AH

C) Fill in the following blanks. [3 M]

i) If Z= 3i+2 then conjugate of Z =

ii) The value of lim l——?] is

x—3

iv) P (4,7) and Q (2,-3) are two points_,then eq.ua-\n‘on of Lime PQ
S .

Q 2. A) Attempt any two of the following questions . [6 M]

i) There are 260 persons with a skin disorder. If 150 had been exposed to the
chemical A, 74 to the chemical B, and 36 to the both chemicals A and B, Find
the number of persons exposed to
a) Chemical Abut not chemical B
b) Chemical B but not chemical A
c) Chemical A or chemical B

ii) For a G.P. if t3=20, t=160 Find S.

. g
i) lim =
y—2 3-)'I—1

B) Attempt any two of the following questions. [8 M]
i) If f(x) = 2x*+ 3, 9(x) = 5x — 2 Find a) fog(x) and b) gof(x)

ii) Line y = mx + c possess through points A (2,1) and B(3,2). Determine m and c.
iii) Solve the following equations using Cramer’s rule.
X—=y+z=1,2x-y=1,3x+3y—4z=2.



Q 3. A) Attempt any two of the following questions. [6 M]

i) A(2,4) andB(5, 8), find the equation of the locus of the point P such that
PAZ— PBZ =13

ii) Find the value of k if the area of the triangle with vertices A (k, 3 ), B(=5,7),
C(—1,4)is4sq. units.

. [5%+3%=2%_1
iii)  Evaluate lim [—]

x—0 X

B) Attempt any one of the following questions. _ [4 M]

i) For what values of a and b is the function continuous in its domain?

2_4
f(x) =xx_2 , forx<2

=ax2-bx+3,for2<x<3

=2x—a+b,forx=z3

3 24i . : e
ii) Express =0 (0 in the form of a+bi, where a, b €R, i =v— 1. State the

values of a and b.

C) Attempt any one of the following questions. (Activity) : [4 M]
; :
i) Z:(Sr2 —-2r+1)
iy
n ‘ﬂ. n
= 3Zr2 —ZZr-i-z 1
r=1 r=1 r=1
: ASIIE Ly n
= 3| [=2| |+| |Write formda of =v%, =¥ and =)
=i =3
Ans= wWrite Fihal answer-

i) Find =2 ify = e

Solution
dy = d 7.
dx dx {x & ]
d d
=y’ — + i x?
dx dx ( )
=x7 e+ ¥ '
Ans = eXxb




SECTION - 1I

Q.4.(A) Select and write the most appropriate answer from the given
alternatives for each Sub-question: [6M]

1) Deciles divide the arranged data into equal parts.
a)9 b)10 c)5 d)8

2) Total No. of three — digit numbers can be formed using the digits 2,3,4,5,6 if
digits can be repeated is

a) 125 b) 120 c) 300 d) 150
3) The measure of asymmetry is
a) dispersion b) skewness c) kurtosis d) moments
4) The range of the correlatioﬁ_ coefficient (r) is
a)-1<r<l1 _b)o<r<1
g-1<r<1  d)-1<r <0
5) The value of 15, is
a) 1366 b) 1365 c) 1300 -d):1350
6) The total number of permutations of Letter ‘REPRESENT is
a) 30,240 b) 30, 220 c) 30,235 d) 30,200
(B) State whether the following statements are true or false [3M]
1) The value of standard deviation may be positive or negative.

2) If the right tail of frequency curve of a distribution is long , it is called
negatively skewed distribution.

3) A correlation is a measure of association or relation between the two
variables.

(C) Fill in the following blanks with appropriate words: [3m]
1) Partitioning is the procedure of dividing the data into parts.
2) A measure of joint variation between the two variables is called

3) The value of (8—6)! is



Q.5. (A) Attempt any two of the following [6M]
1) Calculate D and Pg: for the following data:

79,82,36,38,51,72,68,70,64,63.
2) For a frequency distribution @3 — Q, =90 and ¢, — Q; = 120. Find SKj,.

3) Following data gives height in cm(X) and weight in kgs.(Y) of 20 boys.
Prepare a bivariate frequency table taking class intervals 150-154, 155-159,
....,etc. for Xand 35 -39, 40— 44, - , etc. for Y. Also, find Marginal
frequency distributions.

(152, 40), (160, 54), (163, 52), (150, 35), (154, 36), (160, 49),
(166, 54), (157, 38), (159, 43), (153, 48), (152, 41), (158, 51), (155, 44),
- (156, 47), (156, 43), (166, 53), (160, 50), (151, 39), (153, 50), (158, 46) .

(B) Attempt any two of the following : [8M]
1) Compute Variance and S.D.
X 1 3 5 7 =
Frequency |5 10 ° 20 10 5

2) Two cards are drawn from a pack of 52 cards. Find the probability that

(a) Both are black. (b)‘Both are diamond (C) Both are ace cards (D) Both are
face cards.

3) The longest side of a triangle is twice the shortest side and the third side is 2
cm longer than the shortest side. If the perimeter of the triangle is more than
166 cm then find the minimum length of the shortest side.

Q.6. (A) Attempt any two of the following: [6M]
1) Find the Q.D. for the following data: 3, 16, 8, 15, 19, 11, 5, 17,9, 5, 3.

2) Following table shows the clsassification of application for Secretarial and
for sales positions according to gender. Calculate the value of 2 — statistic.

Offered Denied
Male 75 150
Female 25 50




3) Correlation coefficient between x and y is 0.3 and their covariance is 12.
The variance of x is 9, find the standard deviation of y.

(B) Attempt any one of the following: [4M]
1) Find the graphical solution of the following system of linear inequation :

x=—y=20,2x -y = -2

2) Find the number of ways of drawing 9 balls from a bag that has 6 red balls, 5 -

green balls, and 7 blue balls so that 3 balls of every colour are drawn.
C) Attempt any one of the following : [4M]
1) Complete the activity:
If P(A) =%, P(B) = % and P(AUB) = % ;
' Solution: If P(AUB) = P(A) +P(B) -P(ANB) then calculate:
a) P(ANB)=P(A) —[ |  (Write formula)
= |__—] (Write answer)

b) PA'NnB")=1 —»[:-l (Write formula)
— D (Write answer)

2)Mr. sarad purchased a laptop for Rs. 24,000 and sold it for Rs. 30,000. What
was the profit pertcentage? : '

Solution:

Cost price of laptop = Rs. 24,000

Selling price of laptop = Rs. 30,000

Profit = Selling price — I___l (Write formula)

— |:| (Write answer)
Percentage Profit = CQP x 100 (Write formula)

= (:l (Write answer)



MLDE/ FYTC/ANNE/240335]200-500/OCM /8D

Q1 A} Select the correct option and rewrite the sentence. 05
1. Commerce is a branch of
a)business b) industry c) trade
2. A business unit depends upon for selling its output.
a) industry b) society ¢ Jemployees
3. Management is
a) dynamic b)static c) selective
4. Globalization is concerned with market.
a)global b) local c) rural
5. S5MNC are powerful-—--s-=rmeaum- entities.
a)economical b) political ¢} social
B ] Match the pairs 05
Group A Group B
1. BHEL a) special Legislature
2. Statutory corporation b) 49% paid up capital by govt.
3. Departmental organisation c) service motive
4, Private sector d) Railway
5. Public sector e) profit motive

f) 51%paid up capial by govt.

g) profit oriented

h) operates globally

i} soleTrading

j) owned by government

Q1 C State whether the following statements are True or False (05)

1) Business is an economic activity.

2) Customers cannot bargain in one price shop.

3) Joint stock company can raise huge amount of capital.

4) Business is the product of different environmental factors.
5) New economiic policy promoted the liberal economic policy

Q1 D Give one word/phrase/term: (05)
1) Buying and selling of goods against money or money’s worth.
2) Aretail shop which operates through branches.
3) One man show type of business organisation.
4) The art of getting things done through other.
5) Systematic body of knowledge.




Q2) Explain the following terms/ concepts (any 4) 08
1) Foreign trade
2) Letter of credit
3) Kvic
4) Managing committee
5) Self help group
6) Home Trade

Q3) Study the following case /situation and eXpress your option (any 2) - 06

1. Anandis selling goods to lapan. Kalpana is buying goods from USA whereas Ganesh
is buying raw material from South Africa and after processing it, sells finished goods to
Malaysia,
1)Who is exporter?
2)who is importer
3)what s Entrepot trade?

1)Who is prometer or businessman in this case?
2)What is full form of 5517
3) Suggest digital ways to find lender or investar for this initiative,

of Mr. Ramnath. Karan and Rahuyl ,tWo sons of Mr. Ramnath are helping him along with
their wives,

1)Find out types of business,
2)who is Ramnath?
3)What Karan &Rahul are called 7

Q4) Distinguish between the following (any 3) 12

1.General stores and speciality stores

2. Partnership firm and Joint Hindy family

3. Top leve| Mmanagement and Middle |evel management
4. Government company and statutory corporation

Q5) Answer in brief . (any2):- 08

1. Whatare the feature of NABARD?
2. State any fouyr feature of management
3. State any four merits of joint Hindu Family firm

i



Q6 Justify the following statements. (any2)

1.The liability of ‘sole trader is unlimited.

2.Management is a group-oriented action

3.5IDBI acts as an institute for promotion of MSMES

4.External factors of business environment are beyond control.

Q7 Attempt the following (any2)

1. Explain the feature of chain stores.
2.Explain the importance of business environment.
3.State the function of top-level management.

Q8. Answer the following (anyl)

1. Explain the feature of partnership firm.
2. Explain Multinational corporation and its feature.

08

10

08
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Q.1 Select the correct option and rewrite the sentences. (5 marks)

1. Representative of shareholders are

a. Directors b. Employees c. Servant
2. A company usually opens account.
a. Current b. Saving c. Recurring

3. Indian partnership Act was passed in the year

a. 1923 b. 1932 c. 1956
e can be a director.
a. An individual b. A firm c. A body corporate
5. contains rules and regulation for internal management of the
. company.
a. AOA ' b. MOA c. ROC
B) Give one word. | (5 marks)

1.Primary document of a company which states aims and objectives of a
company. :

2.Audio-visual means of electronic communication.

3.A meeting of shareholders which is held once in the year.

4.1t is an incomplete prospectus.

5.The person who signs the minutes of the meeting.

C)Find the odd one. (5 marks)
1. Overdraft, Fixed deposit, Cash credit, Discounting of bill

2. Secretarius, scribae, ICSI, Chitnis

3.CIN, DIN, PAN, ROC

4.Paper, Margin, Typing, Courtasy

5.Shelf prospectus, Abridged prospectus, Article of Association, Red herring
D) State whether the following statements are True or False. (5 marks)
1.Meetings are held only to review the progress of the company.

2.ROC is concerned with registration of companies



3.A joint stock company is voluntary association of person.

4.Minor can be the membér of the company.

5.All companies need certification of incorporation.

Q.2 Explain the following: (ANY 4) (8 Maeks)
1.Fixed deposits

2.SEBI

3.Holding company

4.Agenda

5.Alternate director

6.Minutes

Q.3 Study the following case and €xpress your opinion: (ANY 2) (6 marks)

1. A General meeting of public limited company is to be held. State the
provision of quorum for-

a. meeting of the company which has less than 1000 members
b. meeting of the company which has more than 5000 member.s
C. meeting of the company which has 2500 members

2. Kali VFX Ltd, was incorporated on 1% Jan 2019 as a public limitéed company
a. How many minimum numbers of members must be there in this company?
b. Can the members of this company sell its shares to outsides
¢. How many maximum numbers of members can this company have?

3. A company plans to offer Right issues.

a. Which document must it send to its shareholders for offering the Right
Issue?

b. Instead of Right Issue, if the company wants to issue shares to the public,
which document must it issue for inviting the public to subscribe for jt?

¢. Name the document which is called as incomplete prospectus?
Q.4 Distinguish between: (ANY 3)

1.Cuurent account and Saving account

(1)



2.Shareholders meeting and Board meeting

3.0rdinary resolution and Special resolution

4 MOA and AOA

Q.5 Answer in brief: (ANY 2) (8 marks)
1.Explain the different types of deposits.

2.What are the objectives of MCA.

3.State any four essentials of goods business letter.

Q.6 Justify the following statements:(ANY 2) (8 Marks)
1.Social media network is very useful to the business.

2.The secretary must correspond with the banks under certain circumstances.
*3.The MCA was set up by central government to fulfil certain objectives.
4.Directors exercise their power and authorities collectively as a Board.

Q.7 Attempt the following: (ANY 2) (10 marks)

1.Write a letter to the director reminding him about the provision regarding
absenteeism at the board meeting.

2.State the merits of written communication

3.Write a letter to bank for opening a current account.

Q.8 Answer the following: (ANY 1) (8 marks)
1. State the features of Partnership firm.

2. Write a letter to NCLT seeking extension to time of repay public deposites.
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